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Exponents: Worksheet -4 

1)  The sum of the digits when expressed as a single digit of 






 −33010
  

         
[ ] 

 a) 258  b) 1000 c) 268  d) 999 

2)  The largest number which is formed by four ones as its digits  [ ] 

 a) 11  b) 1111  c) 1111  d) 1111 

3)  Which of the following is true     [ ] 

 a) am x an = am+n  b) am  an = am – n   

 c) (am)n = amn   d) All these 

4)  3 2327 ba         [ ] 

 a) 3a2 b2 b) 3ab  c) 3 a3 b2/3 d) 3 a.b2/3 

5)  7th root of 128=       [ ] 

 a) 2  b) 4  c) 8  d) 128 

6) 4 16−         [ ] 

 a) – 2  b) 2  c) – 4  d) Does not exist 

7). The value of 3 3 2  x 7 3 6  x 5 3 18      [ ] 

a) 545  b) 500  c) 630  d) none 

8) (512)0.3  (512)0. 03  (512)0. 003 -----------------   [ ] 

a) 2   b) 4  c) 8  d) 5 

9)  
5/4

243

32







  =         [ ] 

a) 
25

16
   b) 

61

81
  c) 

81

16
  d) 

25

81
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10) If 
x21

5

3
−








  = 4 
27

17
 then x =?     [ ] 

a) 
5

2
   b) 

7

2
  c) 

2

7
  d)  

11) The biggest among (64)3, (32)5, (128)3, (16)5   [ ] 

 a) (64)3   b) (32)5  c) (128)3 d) (16)5 

12)  If 24 + 24 + 24 +24 = 4xthen the value of x is   [ ] 

a) 2   b) 3  c) 6  d) 5 

13) Given n is a a natural number if n2 + n2 +………. + n2 (n times) = 64  

       then n3 + n3 +………. + n3 (n times) =     [ ] 

a) 512   b) 256  c) 1024 d) 2048 

14) Half of 440 is       [ ] 

a) 240   b) 420  c) 279  d) 220 

15) The value of 
5

1
 of 1512 is      [ ] 

a) 517  b) 159  c) 5 x1512  d) 1511 x 3 
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